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01 At 22l 232 232 0
Oget=gHl 232
—CO=23ts A X Z 0l HAF=EH 232
EZS(2HIHE) M=
50,0003 14! %23 100
- 2HA 3,000 «22H »23] 132
202 044l 2,736 1,589 1,147
01 = LH o4 1l 2,736 1,589 1,147
OU=Zs, Se0IEFHR=A 220
273,600 x2H 53] 2,736
301 et a = 76,556 81,556 A5,000
= 36,048
Al 40,508
01 MEIBZE 5= 72,096 0 72,096
OU=ZsItd ey AER= N&E
15,020 =400 NI CH x 1204 & 72,096
= 36,048
Al 36,048
09 &AL HI B A S 3,760 3,760 0
O0IF=04 , Se0lE8F0us & HAEA Al
80,000& x20H 1,600
OU=ZsIt= stotS=H &JHA &l
8,000& *x215H 1,720
OUZsItE AXZO0l A FAAH|
10,0003 x22H 23] 440
MIIEEd=3 700 72,796 AT2,096
OU=sIts & S80I |RIXL 2F
70,000 =10 700
307 glz2+ol & 440,221 386,797 53,424
= 267,695
< 57,362
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B 28, SHEEN Y AL
e 23, A= 28X &S& (2 &HH)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 115,164
02 DI2tF AAH B X 1,300 5,000 A 3,700
O0lF0AHdE st st=28 1=
1,300,000% 14! 1,300
10 AIRISEXAIEHE2IHIEX 118,455 381,797 N 263,342
OUIRBNEXNAME 2  118,455,000%14! 118,455
= 82,919
= 17,768
Al 17,768
11T AISIEXAIEEX 320,466 0 320,466
Ot 280104 A¥E2xH (A
2UWol) 5,000, 000& » 14! 5,000
O0IF=04 st=M8d=X& HOtRR
2,000,000& *14] 2,000
OUEIIE 2E3SH ESHAMY
3,000, 0003 »14] 3,000
OZE0IF=048 HEXJAANS
20,000,000& =14 20,000
OUESIE XH eI XA
53,757,000& =14 53,757
= 37,631
== 8,063
Al 8,063
OZ&E0|12X SHAEAMHA K&
17,752,000 x 14l 17,752
= 12,426
[ 2,663
Al 2,663
OUER3IIE U2U=AIE 153,439,000 =14 153,439
= 107,407
o= 23,016
Al 23,016
OURIEXNTA HRMA (EEAE)
50,000 »13H *10& 6,500
OUESIIE MEXTAF AFSE 13,756,000% 14! 13,756
= 9,629
[ 2,063
Al 2,064
OZE&0|2IAH HES AtH 3,000,000 14! 3,000
= 2,100
o= 450
Al 450
Oogt=0uEs 29 22,262,000 14! 22,262
= 15,583
& 3,339
Al 3,340
OUZRs - €5JId Ols ¥=58 5N
10,000, 000& * 14 10,000
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A OEIEDY
Zu: YRS (0HIISD)

e LHEHHX S (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
HdESI=2X4d 882 100,000 100,000 0
702 12852 100,000 100,000 0
o1 01282 100,000 100,000 0]
OdZESII=a 52 100,000,000 100,000
HEMSHAH (A=) 52,909 53,416 AB07
Jl2AH(HAII=sW) 52,909 53,416 AB07
JI2HHI(6AJIs ) 52,909 53,416 AB07
201 LBt ]| 19,056 18,452 604
01 AP 22| d| 19,056 18,452 604
Ogbt4=24| 9,984
—J2A2sEH 100,000& »18H 1,800
— ZSAE=46H| 500,000& x1CH x23] 1,000
—doIdESIHEY 237,000 *3CH x4 3] 2,844
— EAD] EE 32 330,000 *1CH *43] 1,320
—EAMD EH 2L 150, 000& = 1CH x4 3] 600
— A2 E 110,000 *1CH x4 3] 440
—SANsSX F 20,000& *78t A x12& 1,680
—J23a2E23d| 150, 000 *23| 300
Ol 9,072
IS AT S04yl
7,000& x18H 63| x12& 9,072
202 044l 29,343 31,184 A 1,841
01 2L bl 29,343 31,184 A 1,841
OWAMEIIEY LRFX 204 H]
20,000 x14H «83] x12& 26,880
OO 2XAY B U MIoias] &HAH e
o B 273,600 x3H *33] 2,463
203 €2 F=&d| 3,780 3,780 0
04 EANSIELRF=XH| 3,780 3,780 0
ORI ERFEH| 350,000 *12& *90% 3,780
405 Ko SHI 730 0 730
01 XL 2 FF S| 730 0 730
O2M M| 730,000 = 1CH 730
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